z3 cve3 cvcd

Solver sat time unsat time unk time tmout error | sat time unsat time unk time tmout error | sat time unsat time unk time tmout error
boogie 0 00 [ 883 698 [0 00|337] 0 [0 0.0| 752 4136]|78 256.2|39 | O 0 0.0 | 706 12314 0 00| 514( O
simplify 0 00 |81 419 (0 00| O O[O0 00|79 4381( 0 0.0 41 0 0 0.0 | 632 1119.11 0 00| 199( O
simplify2 0 0.0 [2342 1044 (0 0.0] 3 0O [0 0.0|1816 5044 | O 00 (529 O 0 0.0 [1998 3587.41 0 00| 347( O
tokeneer 0 0.0 |1742 178 [0 0.0]130| O [0 0.0|1742 110.3|112 169.7| 18 0 0 0.0 (1742 541 | 0 00]130| O
why 0 0.0 {1241 619 (0 0.0] 30 0 [0 0.0)1237 126.1]| 6 2.5 28 0 0 0.0 [1219 102.2| 0 0.0 | 52 0
Ira 206 85.2 | 46 265 (0 00]122) O |1 00| 33 424 [259 585.7]| 81 0 (142 398 | 57 192 |8 01167 O
other 5 116 | 79 290 (0 0.0] 11 0 [0 0.0 53 44 |12 8.0 30 0 0 0.0 51 177 | 2 0.0 | 42 0
Total 211 96.76|7164 351.24| 0 0 |633| 0 | 1 0 |6423 1639.4|467 1022.0|1117| 0 |142 39.82|6405 6130.9| 10 0.14|1451| 0




